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Good answers should be concise and right to the points.

1. You are an employer seeking to fill a vacant position on an assembly line.  Are you more concerned with the average product of labor or the marginal product of labor for the last person hired?  If you observe that your average product is just beginning to decline, should you hire any more workers?  What does this situation imply about the marginal product of your last worker hired?

2. Suppose a chair manufacturer is producing in the short run when equipment is fixed.  The manufacturer knows that as the number of laborers used in the production process increases from 1 to 7, the number of chairs produced changes as follows: 10, 17, 22, 25, 26, 25, 23.

a). Calculate the marginal and average product of labor for this production function.

b). Does this production function exhibit diminishing returns to labor?  Explain.
3. Wheat is produced according to the production function Q = 100(K0.8L0.2 ). Does this production function exhibit increasing, decreasing, or constant returns to scale?
